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lJelenlétre Jelenlétre feladatrészek A kotelez6 Mérési
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1. rész esetén | 2. rész esetén elérhetd Osszpontszam
Osszpontszam

G178-0761 8 a angol R R 20 20 40 40 100%
V228-X370 8 a angol R R 19 19 40 38 95%
U886-P980 8 a angol R R 20 20 40 40 100%
B379-M447 8 a angol R R 20 20 40 40 100%
N237-C172 8 a angol R R 17 19 40 36 90%
D587-U838 8 a angol R R 19 17 40 36 90%
A454-0541 8 a angol R R 20 19 40 39 97%
H283-U771 8 a angol R R 17 18 40 35 87%
T953-R582 8 a angol R R 20 19 40 39 97%
0176-U131 8 a angol R R 20 20 40 40 100%
G276-W149 8 a angol R R 20 19 40 39 97%
W424-P894 8 a angol R R 17 17 40 34 85%
M747-T860 8 a angol R R 14 14 40 28 70%
Q549-V557 8 a angol R R 20 19 40 39 97%
K624-0923 8 a angol R R 17 17 40 34 85%
P695-0121 8 a angol R R 19 19 40 38 95%
M247-G519 8 a angol R R 19 18 40 37 92%
A585-R892 8 a angol R R 19 20 40 39 97%
H436-Q852 8 a angol R R 19 20 40 39 97%
X372-W418 8 a angol R R 18 18 40 36 90%
L747-M436 8 a angol R R 20 20 40 40 100%
L785-R856 8 a angol R R 9 11 40 20 50%
G234-0779 8 b angol R R 19 19 40 38 95%
H519-P967 8 b angol R R 19 19 40 38 95%
$333-Q988 8 b angol H H 0 0 40 0 n.a.
G424-T662 8 b angol R R 18 18 40 36 90%
P679-M826 8 b angol H H 0 0 40 0 n.a.
A597-E236 8 b angol R R 19 19 40 38 95%




U538-Q642 8 b angol R R 18 19 40 37 92%
X976-5197 8 b angol R R 17 20 40 37 92%
G665-D160 8 b angol R R 20 20 40 40 100%
E926-F650 8 b angol R R 12 18 40 30 75%
P373-L646 8 b angol R R 19 19 40 38 95%
X429-X414 8 b angol H H 0 40 0 n.a.

J996-P971 8 b angol H H 40 n.a.

L785-0720 8 b angol R R 19 17 40 36 90%
C837-A868 8 b angol R R 14 15 40 29 72%
R955-M799 8 b angol R R 20 20 40 40 100%
P952-K181 8 b angol R R 18 16 40 34 85%
K364-M694 8 b angol R R 20 20 40 40 100%
N364-Q319 8 b angol R R 18 20 40 38 95%




